

Team Standings

Place	#	Team Name	Team Captain	Points Won	Last Wk WON	Team Ave	Pins + HDCP	HDCP Game	HDCP Sers
1	4	BALANCES	Jean DeChantigny	33	33	983	3535	1275	3535
2	5	SAGITTAIRES	Andre Ouellette	29	29	1035	3258	1171	3258
3	8	BELIERS	Claudette Van Hout	25	25	884	3340	1191	3340
4	7	VOISINS	Gilles Lapointe	21	21	890	3208	1166	3208
5	6	ZODIACS	Raymond Beland	19	19	924	3172	1087	3172
6	3	SCORPIONS	Diane Hill	18	18	1016	3151	1067	3151
7	1	VERSEAUX	Huguette Pilon	15	15	971	3188	1146	3188
8	2	VIERGES	Nicole De Chantign	8	8	871	3072	1042	3072

*** Although not shown, standings are determined by points only for the current part

Average List of Regular Team Members

Men Division 1: Enter Div Label

Team	Name	Ave	Pins	Gms	High Game	High Sers	Team	Name	Ave	Pins	Gms	High Game	High Sers
5	Richard Dagenais	199	14399	72	289	717	7	Gilles Lapointe	175	13181	75	249	676
4	Claude St-Louis	199	13756	69	300	739	3	Jacques Lauzon	172	9856	57	246	632
7	Pierre Miron	191	13237	69	278	703	4	Richard Rivest	172	7927	46	269	726
3	Marcel Paquet	184	7743	42	248	680	1	Fernand Rivet	171	10788	63	263	651
5	Alain Dubuc	184	13261	72	300	700	6	Claude Labonte	169	12747	75	257	623
3	Gilles Barette	182	13722	75	276	682	1	Victor Perreault	168	11110	66	236	618
3	Roger Beaupre	179	11853	66	269	693	5	Jean-Claude Longtin	138	7082	51	234	538
6	Raymond Beland	178	10168	57	238	636	2	Jean-Claude St-Hilaire	132	9958	75	182	477
5	Andre Ouellette	177	12784	72	258	686	8	Claude Boucher	124	5582	45	215	498
4	Jean DeChantigny	176	13232	75	234	626	3	Pierre Joly	120	5760	48	198	431

Women Division 1: Enter Div Label

Team	Name	Ave	Pins	Gms	High Game	High Sers	Team	Name	Ave	Pins	Gms	High Game	High Sers
8	Huguette Lafrance	191	9188	48	267	667	8	Claudette Van Houtte	149	11199	75	235	620
6	Huguette Lalonde	183	12653	69	248	659	4	Anne-Marie Tessier	146	10082	69	257	540
5	Monique Lecompte	179	12935	72	278	752	2	Gisele Chevrier	144	9122	63	205	555
3	Diane Hill	179	12917	72	248	652	6	Dolores DeLagrave	141	8492	60	220	620
1	Huguette Pilon	177	11712	66	234	607	8	Louise Brodeur	141	9732	69	203	549
1	Micheline Soulard	170	12794	75	265	687	6	Denise St-Hilaire	139	8258	59	203	535
2	Nicole Brais	158	10941	69	248	575	4	Francine Pregent	137	9044	66	205	568
5	Louise Lavoie	158	10448	66	258	622	7	Lise Senecal	136	3286	24	184	472
2	Lucille Lanteigne	157	10873	69	257	615	7	Monique Rousseau	136	9834	72	223	562
1	Danielle Couture	154	11115	72	261	604	1	Denise Normandin	131	9865	75	224	576
4	Suzanne Despatie	153	9235	60	247	596	8	Denise Roy	130	9243	71	209	519
2	Nicole De Chantigny	150	11318	75	214	552	6	Teresa Marinelli	114	7871	69	181	428
7	Suzie Cantin	149	11217	75	247	553	7	Veronique Gauthier	103	7751	75	167	439
8	Fabienne Gauvreau	149	8514	57	210	536							

Lane Assignments

	1-2	3-4	5-6	7-8
Today	2-5	8-3	1-7	6-4
Next Week	7-6	1-4	3-2	5-8

Last Week's Top Scores

Handicap Game	1275	BALANCES	1191	BELIERS	1171	SAGITTAIRES	
Handicap Series	3535	BALANCES	3340	BELIERS	3258	SAGITTAIRES	
Men	Scratch Game	233	Pierre Miron	217	Jean DeChantigny	213	Claude St-Louis
	Scratch Series	643	Pierre Miron	534	Claude St-Louis	530	Richard Dagenais
						530	Jean DeChantigny
Women	Scratch Game	207	Micheline Soulard	206	Anne-Marie Tessier	197	Diane Hill
	Scratch Series	572	Micheline Soulard	531	Huguette Lalonde	510	Diane Hill

Season High Scores

Handicap Game	1275	BALANCES	1191	BELIERS	1171	SAGITTAIRES	
Handicap Series	3535	BALANCES	3340	BELIERS	3258	SAGITTAIRES	
Men	Scratch Game	300	Claude St-Louis	300	Alain Dubuc	289	Richard Dagenais
	Scratch Series	739	Claude St-Louis	726	Richard Rivest	717	Richard Dagenais
Women	Scratch Game	278	Monique Lecompte	267	Huguette Lafrance	265	Micheline Soulard
	Scratch Series	752	Monique Lecompte	687	Micheline Soulard	667	Huguette Lafrance

Team Rosters

<u>Name</u>	<u>Pins</u>	<u>Gms</u>	<u>Ave</u>	<u>-1-</u>	<u>-2-</u>	<u>-3-</u>	<u>Total</u>	<u>Weekly Over Ave Game Ave +/-</u>	<u>Weekly Over Ave Series Ave +/-</u>
1 - VERSEAUX									
Danielle Couture	11115	72	154	168	103	131	402	168 - 155=13	402 - 465=-63
Denise Normandin	9865	75	131	92	76	138	306	138 - 132=6	306 - 396=-90
Micheline Soulard	12794	75	170	179	207	186	572	207 - 169=38	572 - 507=65
Victor Perreault	11110	66	168	130	166	210	506	210 - 168=42	506 - 504=2
Fernand Rivet	10788	63	171	137	148	153	438	153 - 172=-19	438 - 516=-78
Huguette Pilon	11712	66	177	168	116	152	436	168 - 178=-10	436 - 534=-98
2 - VIERGES									
VACANT	0	0	130	v130	v130	v130	390		
Nicole Brais	10941	69	158	103	143	153	399	153 - 159=-6	399 - 477=-78
Gisele Chevrier	9122	63	144	a144	a144	a144	432		
Jean-Claude St-Hilaire	9958	75	132	92	112	82	286	112 - 134=-22	286 - 402=-116
Lucille Lanteigne	10873	69	157	121	113	115	349	121 - 159=-38	349 - 477=-128
Nicole De Chantigny	11318	75	150	136	127	134	397	136 - 151=-15	397 - 453=-56
3 - SCORPIONS									
Jacques Lauzon	9856	57	172	a172	a172	a172	516		
Pierre Joly	5760	48	120	a120	a120	a120	360		
Diane Hill	12917	72	179	165	148	197	510	197 - 179=18	510 - 537=-27
Gilles Barette	13722	75	182	166	140	140	446	166 - 184=-18	446 - 552=-106
Roger Beaupre	11853	66	179	153	144	150	447	153 - 181=-28	447 - 543=-96
Marcel Paquet	7743	42	184	163	172	153	488	172 - 186=-14	488 - 558=-70
4 - BALANCES									
Anne-Marie Tessier	10082	69	146	115	146	206	467	206 - 145=61	467 - 435=32
Francine Pregent	9044	66	137	127	195	178	500	195 - 135=60	500 - 405=95
Richard Rivest	7927	46	172	a172	a172	a172	516		
Suzanne Despatie	9235	60	153	154	176	151	481	176 - 153=23	481 - 459=22
Claude St-Louis	13756	69	199	164	157	213	534	213 - 200=13	534 - 600=-66
Jean DeChantigny	13232	75	176	127	217	186	530	217 - 176=41	530 - 528=2
5 - SAGITTAIRES									
Louise Lavoie	10448	66	158	127	123	189	439	189 - 158=31	439 - 474=-35
Monique Lecompte	12935	72	179	a179	a179	a179	537		
Jean-Claude Longtin	7082	51	138	a138	a138	a138	414		
Alain Dubuc	13261	72	184	138	141	192	471	192 - 185=7	471 - 555=-84
Andre Ouellette	12784	72	177	a177	a177	a177	531		
Richard Dagenais	14399	72	199	186	160	184	530	186 - 201=-15	530 - 603=-73
6 - ZODIACS									
Huguette Lalonde	12653	69	183	172	164	195	531	195 - 183=12	531 - 549=-18
Dolores DeLagrave	8492	60	141	128	160	111	399	160 - 141=19	399 - 423=-24
Teresa Marinelli	7871	69	114	86	98	107	291	107 - 114=-7	291 - 342=-51
Claude Labonte	12747	75	169	158	127	182	467	182 - 170=12	467 - 510=-43
Denise St-Hilaire	8258	59	139	157	120	102	379	157 - 140=17	379 - 420=-41
Raymond Beland	10168	57	178	123	196	120	439	196 - 180=16	439 - 540=-101
7 - VOISINS									
Veronique Gauthier	7751	75	103	79	70	112	261	112 - 104=8	261 - 312=-51
Monique Rousseau	9834	72	136	86	86	78	250	86 - 138=-52	250 - 414=-164
Lise Senecal	3286	24	136	137	136	170	443	170 - 135=35	443 - 405=38
Suzie Cantin	11217	75	149	132	99	143	374	143 - 150=-7	374 - 450=-76
Pierre Miron	13237	69	191	184	233	226	643	233 - 190=43	643 - 570=73
Gilles Lapointe	13181	75	175	147	139	180	466	180 - 176=4	466 - 528=-62

Name	Pins	Gms	Ave	-1-	-2-	-3-	Total	Weekly Over Ave Game Ave +/-	Weekly Over Ave Series Ave +/-
8 - BELIERS									
Louise Brodeur	9732	69	141	142	100	89	331	142 - 142=0	331 - 426=-95
Denise Roy	9243	71	130	148	96	105	349	148 - 130=18	349 - 390=-41
Claude Boucher	5582	45	124	131	129	132	392	132 - 123=9	392 - 369=23
Claudette Van Houtte	11199	75	149	164	165	121	450	165 - 149=16	450 - 447=3
Fabienne Gauvreau	8514	57	149	a149	a149	a149	447		
Huguette Lafrance	9188	48	191	a191	a191	a191	573		